Math Section

------------------------------------------------------------------------------------------------------------

Q1:

If the average (arithmetic mean) of 3, 8, and w is greater than or equal to 7 and less than or equal to 44, what is the greatest possible value of w ?

A.   11

B.   21

C.   55

D. 121

E. 132

Answer: 

------------------------------------------------------------------------------------------------------------

Q2:

A researcher plans to identify each participant in a certain medical experiment with a code consisting of either a single letter or a pair of distinct letters written in alphabetic order.  What is the least number of letters that can be used if there are 12 participants, and each participant is to receive a different code?

A. 4

B. 5

C. 6

D. 7

E. 8

Answer: 

------------------------------------------------------------------------------------------------------------

Q3:

If x and y are nonzero integers, is 18 a factor of xy2 ?

(1)
  x is a multiple of 54.

(2)
  y is a multiple of 6.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q4:

John makes wooden bowls and sells each bowl at a price that consists of his cost of making the bowl and a markup amount that is 25 percent of the selling price.  What is the selling price of a bowl that cost John $60 to make?

A. $85

B. $80

C. $75

D. $70

E. $45

Answer: 

------------------------------------------------------------------------------------------------------------

Q5:

Can a certain rectangular sheet of glass be positioned on a rectangular tabletop so that it covers the entire tabletop and its edges are parallel to the edges of the tabletop?

(1)
  The tabletop is 36 inches wide by 60 inches long.

(2)
  The area of one side of the sheet of glass is 2,400 square inches.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q6:
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A. 8 + 3
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B. 4 + 3
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C. 8

D. 4

E. 
[image: image4.wmf]7


Answer: 

------------------------------------------------------------------------------------------------------------

Q7:

Is t greater than v ?

(1)
  t is greater than 3.

(2)
  v is less than 5.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q8:

A certain right triangle has sides of length x, y, and z, where x < y < z.  If the area of this triangular region is 1, which of the following indicates all of the possible values of y ?

A. y > 
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B. 
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 < y < 
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C. 
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D. 
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E. y < 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q9:

Is x greater than y ?

(1)
  x – y2 > 0

(2)
  xy < 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q10:

Was the average (arithmetic mean) weight of the package mailed at a certain post office yesterday greater than 600 grams?

(1)
The total weight of the packages mailed at the post office yesterday was greater than 14,500 grams.

(2)
  Fewer than 25 packages were mailed at the post office yesterday.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q11:

Working simultaneously and independently at an identical constant rate, 4 machines of a certain type can produce a total of x units of product P in 6 days.  How many of these machines, working simultaneously and independently at this constant rate, can produce a total of 3x units of product P in 4 days?

A. 24

B. 18

C. 16

D. 12

E. 8

Answer: 

------------------------------------------------------------------------------------------------------------

Q12:

At a sale all books were priced equally and all magazines were priced equally.  What was the price of 3 books and 4 magazines at the sale?

(1)
  At the sale the price of a book was $1.45 more than the price of a magazine.

(2)
  At the sale the price of 6 books and 8 magazines was $43.70.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q13:

Juan bought some paperback books that cost $8 each and some hardcover books that cost $25 each.  If Juan bought more than 10 paperback books, how many hardcover books did he buy?

(1)
  The total cost of the hardcover books that Juan bought was at least $150.

(2)
  The total cost of all the books that Juan bought was less than $260.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q14:
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The graph above shows the combined revenue, in billions of dollars, of a chain of food stores for each year over a four-year period.  In 1994 a certain store’s revenue accounted for 2.0 percent of the combined revenue for that year, and in 1995 the same store accounted for 2.3 percent of the combined revenue for that year.  What was the approximate percent increase in revenue for this store from 1994 to 1995 ?

A. 0.3%

B. 15.0%

C. 25.0%

D. 30.4%

E. 43.8%

Answer: 

------------------------------------------------------------------------------------------------------------

Q15:

In the xy-plane, does the point (a, b) lie above the line y = x ?

(1)
  a = 2

(2)
  b = a + 2

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q16:

The three-digit integer kss is the sum of the two-digit integers ks and rs, where k, r, and s are the digits of the integers.  Which of the following must be true?
  I.  k = 2


 II.  r = 9


III.  s = 5

A.
I only
B.
II only

C.
III only
D.
I and II
E.
II and III
  Answer: 

------------------------------------------------------------------------------------------------------------

Q17:

What is the greatest prime factor of 2100 - 296 ?

A. 2

B. 3

C. 5

D. 7

E. 11

Answer: 

------------------------------------------------------------------------------------------------------------

Q18:

How many seconds will it take for a car that is traveling at a constant rate of 45 miles per hour to travel a distance of 220 yards?  (1 mile = 1,760 yards)

A. 8

B. 9

C. 10

D. 11

E. 12

Answer: 

------------------------------------------------------------------------------------------------------------

Q19:

Of the people who attended a workshop, 60 percent were teachers and some of the teachers were teachers of language arts.  What percent of the people who attended the workshop were teachers of language arts?

(1)
  200 people attended the workshop.

(2)
  72 of the teachers who attended the workshop were not teachers of language arts.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q20:

For any integers x and y, min(x, y) and max(x, y) denote the minimum and the maximum of x and y, respectively.  For example, min(5, 2) = 2 and max(5, 2) = 5.  For the integer w, what is the value of min(10, w) ?

(1)
  w = max(20, z) for some integer z.

(2)
  w = max(10, w)

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q21:

Harvey teaches a certain number of biology students in 2 classes, K and L.  He can divide the students in class K into 7 groups of n students each.  He can divide the students in class L into 6 groups of p students each with 1 student left over.  How many students are in class L ?

(1)
  n = p
(2)
  There are 5 more students in class K than in class L.
A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q22:

What is the value of t-1 ?

(1)
  t-2 < 1

(2)
  t-3 = 
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A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q23:

If 9x = 27y, which of the following expresses x in terms of y ?

A. 3y
B. 3y - 1
C. 32y - 1
D. 32y - 3
E. 33y - 2
Answer: 

------------------------------------------------------------------------------------------------------------

Q24:

A certain fruit stand sold apples for $0.70 each and bananas for $0.50 each.  If a customer purchased both apples and bananas from the stand for a total of $6.30, what total number of apples and bananas did the customer purchase?

A. 10

B. 11

C. 12

D. 13

E. 14

Answer: 

------------------------------------------------------------------------------------------------------------

Q25:

If the range of the six numbers 4, 3, 14, 7, 10, and x is 12, what is the difference between the greatest possible value of x and least possible value of x ?

A. 0

B. 2

C. 12

D. 13

E. 15

Answer: 

------------------------------------------------------------------------------------------------------------

Q26:

If n is a positive integer, what is the value of n ?

(1)
  When n is divided by 3, the remainder is 2.

(2)
  When n2 is divided by 3, the remainder is 1.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q27:

If xy ≠ 0 and x2y2 – xy = 6, which of the following could be y in terms of x ?

  I.  
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 II.  – 
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III.  
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A.
I only
B.
II only

C.
I and II
D.
I and III
E.
II and III
  Answer: 

------------------------------------------------------------------------------------------------------------

Q28:
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 is closest in value to

A.          2,200

B.        70,000

C.      220,000

D.   7,000,000

E. 22,000,000

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

Joanna bought only $0.15 stamps and $0.29 stamps.  How many $0.15 stamps did she buy?

(1)
  She bought $4.40 worth of stamps.

(2)
  She bought an equal number of $0.15 stamps and $0.29 stamps.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q30:

Jim’s income comes from his wages and from tips.  For a certain month, if Jim’s income from his wages was 180 percent of his income from tips, approximately what percent of his total income came from tips?

A. 18%

B. 25%

C. 36%

D. 50%

E. 72%

Answer: 

------------------------------------------------------------------------------------------------------------

Q31:
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In the figure shown, line segments QS and RT are diameters of the circle.  If the distance between Q and R is 
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, what is the area of the circle?

A. 4π

B. 8π

C. 16π

D. 32π

E. 64π

Answer: 

------------------------------------------------------------------------------------------------------------

Q32:

Does the decimal equivalent of 
[image: image20.wmf]q

p

, where p and q are positive integers, contain only a finite number of nonzero digits?

(1)
  p > q
(2)
  q = 8

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

Of the land owned by a farmer, 90 percent was cleared for planting.  Of the cleared land, 40 percent was planted with soybeans and 50 percent of the cleared land was planted with wheat.  If the remaining 720 acres of cleared land was planted with corn, how many acres did the farmer own?

A. 5,832

B. 6,480

C. 7,200

D. 8,000

E. 8,889

Answer: 

------------------------------------------------------------------------------------------------------------

Q34:

At an auction, each of the bids on a certain clock after the first bid was $100 greater than the immediately preceding bid.  What was the amount of the last bid on the clock?

(1)
  The first bid on the clock was $450.

(2)
  The fourth bid on the clock was $300 less than the amount of the last bid.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

In a recent election, Ms. Robbins received 8,000 votes cast by independent voters, that is, voters not registered with a specific political party.  She also received 10 percent of the votes cast by those voters registered with a political party.  If N is the total number of votes cast in the election and 40 percent of the votes cast were cast by independent voters, which of the following represents the number of votes that Ms. Robbins received?

A. 0.06N + 3,200

B. 0.1N + 7,200

C. 0.4N + 7,200

D. 0.1N + 8,000

E. 0.06N + 8,000

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:

If 
[image: image21.wmf]4

+

m

 = 2, what is the value of m ?

(1)
  m < 0

(2)
  m2 + 8m + 12 = 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

A box contains exactly 24 balls, of which 12 are red and 12 are blue.  If two balls are to be picked from this box at random and without replacement, what is the probability that both balls will be red?

A. 
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B. 
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C. 
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D. 
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E. 
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Answer: 

------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------

Answers:

DBDBE, DEACC, BBCEB, BCCCD, CBEBD, EEBAC, CBDCE, EA
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